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y=[3.0; 2.5; 3.0; 6.0; 10.0];
plot2d(x,y,style=[-9] );//TEDT—%%&F 0wk
X=[1,1;2,1;3,1;4,1;5,1]; [/BALEATHI D= D175
a=inv(X"*X)*X"*y //BBERIN_FEZTRDS.
y fitting=a(1) *x+a(2); //F4VTAVTRHEBRDER
plot(x,y_fitting); VEZS
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x=[1;2;3;4;5];
y=[3.0; 2.5; 3.0; 6.0; 10.0];

plot2d(x,y,style=[-9] ); //TRDT—2%ETavk

X=[1,1,1;4,2,1;9,3,1;16,4,1;25,5,1]; /HREHEITIIDI=bDTF
a=inv(X"*X)*X"*y //BBERIN_FETRDS.

y_fitting = a(1).*x .*x + a(2)*x +a(3); //FAVTAVT#ERERT
plot(x,y_fitting); VEDS
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y=[0.5; 1.9; 2.7; 3.3; 3.7];
plot2d(x,y,style=[-9] ); //TEDT—4A%ETOvk
[/EALEATHI D=8 DFT5I

X=[log(1),1; log(2),1; log(3),1; log(4),1;l0g(5),1];

a=inv(X"*X)*X"*y /1B ERN_FETRDS.
y_fitting = a(1) *log(x)+ a(2); 1/249 T4 T $ERE RS
lot(x,y_fitting); VE-GH
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L2=1.0;

for t=0:0.1:%pi,
thetal=t; //BAEI 1 DA E
theta2 = t*2;//BA &2 D A E
//EAER AR

x1 =L1 * cos(thetal);
y1=L1 *sin(thetal);
x2 =x1 +L2 * cos(thetal+theta2)
y2 =yl + L2 * sin(thetal+theta2);

armX = [0,x1,x2]; //BE & DxEELE
army = [0,y1,y2]; //BAER DyEERR

plot(armX,armY,0-'); //{&E

sleep(100); //100msikd>
nd
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v, =L sin6 +L,sin(6, +6,)
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L1=1.0; I/ TFIRIBEF T4 R ﬁE;EO‘CiﬁEﬁ?L, el, 92€'x2, y2'6§?'
L2=1.0; x1=L1* cos(thetal); —ﬁﬁmﬁﬁgﬁiliﬁb\ <‘:'sz2§’£‘
1 =11 *sin(thetal); 3 LS -
for t=0:0.1:2*%pi, 12 =x1+12 E‘tco:(trjetalﬂhetaZ); ﬁ*b‘*ﬁ%&@ &6L&"E}
//BROEmME. AEE LD y2 =y1+L2 * sin(thetal+theta2);

x2 = 1+0.5*cos(t);

y2 = 0.5%sin(t); [T IFHEE R
armX = [0,x1,x2]; /B &I DOxEEAZ
13= armY = [0,y1,y2]; //BAET DYEELR
theta2 = square(-2.5,-2.5,2.5,2.5);
theta3 = plot(armX,armY,'0-"); //}#4 &
sleep(100); //100ms{Ad>
theta - [N | end
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